12090500

Headstock

BAREFR
EHETL

102 mm

INDEX


https://ixshop.ixworld.com:443/cn/zh/Exchange-spare-part/Other-assemblies/Headstock/p/000000000012090500

12090500

Xt

fe

A
Schweiger

Plug

mmlD 10601867
PLETH = 5aID - 483241.0251

BB KE (mm)
BN 20 Millimeter

TSR /AR AR BriRsEk
M12 IP67

Extension part

fmlD 10563968
DLETH = 5aID - 483024.1216

A4 N2 (mm)
WELHEEk. O 8 Millimeter
Rubber Seal

mnlD 10271812
PLETH = 5aID : 483024.8001

BB LA N1 (mm)
p2erHEsk. RO 9 Millimeter

Cabel coupling

FehnlD 10932774
PLETH 541D © 483689.5031

FSAA M N1E (mm)
W2arHEsk. RO 35 Millimeter

HABMF

ToE (mm)
18 Millimeter

SME (mm)
18 Millimeter

1K
FKM

Btk
IP68 / IPx8

INDEX

TEIE /ARE (ST)
5 Piece

3

£


https://ixshop.ixworld.com:443/cn/zh/Schweiger/Plug/p/000000000010601867
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Extension-part/p/000000000010563968
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Rubber-Seal/p/000000000010271812
https://ixshop.ixworld.com:443/cn/zh/Schweiger/Cabel-coupling/p/000000000010932774

12090500

Cylinder head screw M 6x 75

F=imiD: 10817076
LRI 541D - 410260.0675

Plug connect

mmlD 10548488
LR 441D © 471400.0838

Restrictor M12x12

F=hmlD 11079730
PLETH 541D © R32031.10

Restrictor

mnlD 10243845
PLATE = 50ID - 477196.3120

Restrictor

mnlD 10557327
PLATE = 50ID - 477196.3280

Screw ca

=540 12019621
PABTA *=4AID :

Screw ca

4D 12019622
PABTAO=AmID :

Plug

imlD 10105370
DLETH = faID - 471414.16

INDEX


https://ixshop.ixworld.com:443/cn/zh/c/Cylinder-head-screw/p/000000000010817076
https://ixshop.ixworld.com:443/cn/zh/c/Plug-connect/p/000000000010548488
https://ixshop.ixworld.com:443/cn/zh/c/Restrictor/p/000000000011079730
https://ixshop.ixworld.com:443/cn/zh/c/Restrictor/p/000000000010243845
https://ixshop.ixworld.com:443/cn/zh/c/Restrictor/p/000000000010557327
https://ixshop.ixworld.com:443/cn/zh/c/Screw-cap/p/000000000012019621
https://ixshop.ixworld.com:443/cn/zh/c/Screw-cap/p/000000000012019622
https://ixshop.ixworld.com:443/cn/zh/c/Plug/p/000000000010105370

12090500

Label V2A

D 10199471
DLETH 541D - 498010.4520

Cylinder

fmlD 10953935
PLETH 54D : GP2701.1204

Cylindrical pin 8 m6 x 24

fmlD 10273183
PLETH 541D © 401000.0824

Cylinder head screw M 8x 85

hnlD: 11051534
PLATE = 5451D - 410260.0885

Washer 8,4 Wiirth.-Nr: 04975508

PhnlD 10022427
PLATE = 540ID  419021.08

Screw

mnlD 10796845
PLATE = 5451D 0 P23321.10

Gasket ring

mnlD 10083232
DLETH = 5aID - 479023.0812

Label

441D 12110270
PABTAO=AaID :

INDEX


https://ixshop.ixworld.com:443/cn/zh/c/Label/p/000000000010199471
https://ixshop.ixworld.com:443/cn/zh/c/Cylinder/p/000000000010953935
https://ixshop.ixworld.com:443/cn/zh/c/Cylindrical-pin/p/000000000010273183
https://ixshop.ixworld.com:443/cn/zh/c/Cylinder-head-screw/p/000000000011051534
https://ixshop.ixworld.com:443/cn/zh/c/Washer/p/000000000010022427
https://ixshop.ixworld.com:443/cn/zh/c/Screw/p/000000000010796845
https://ixshop.ixworld.com:443/cn/zh/c/Gasket-ring/p/000000000010083232
https://ixshop.ixworld.com:443/cn/zh/c/Label/p/000000000012110270

